
...... .... 
� 

� 
� 

� 
Model / SKU Number LC-18INSGWR-6U 00405918 00405919 

Rack Capacity (in Rack Units) SU 9U 12U 

Rack Depth (in) 18 18 18 
H 15.5 20.9 26.2 

Unit Dimensions (in) w 20.8 20 20 
D 18 18 18 

Weiaht Caoacitv /ka / lbs\ 50 / 110 25/ 55 25 / 55 

Material 

Paintina I Coatina 

Construction 

Square and Square and Square and 
Rack Hole Tvoe 12-24 Threaded 12-24 Threaded 12-24 Threaded 

� 
M6 Metal M6 Metal M6 Metal 

Washers (x4) Washers (x4) Washers (x4) 
M6 Wall Mounting M6 Wall Mounting M6 Wall Mounting 

Mounting Screws (x4) Screws (x4) Screws (x4) 

M6 Cage Screws M6 Cage Screws M6 Cage Screws 
(x10) (x10) (x10) 

M6 Cage Nuts M6 Cage Nuts M6 Cage Nuts 
(x10) (x10) (x10) 

12-24 Screws 12-24 Screws 12-24 Screws 
Eauioment Mountina Hardware (x10) (x10) (x10) 

Swing Gate Access 

Assemblv 

Gm� 
EIA/ECA-310-E 

ROHS 

CE ✓ ✓ 

DIN 41494 

I EC-60297 -3-100 

L 21.625 21 26 
Shipping Dimensions (in) w 17.875 21 21 

H 5.25 7 7 

Shipping Weight (lbs) 24.3 18.55 20.5 

Use space efficiently with the L-com Swing Gate
Wall-Mounted Rack for your standard 19 inch servers 
and AV and networking equipment. The dual-hinged 
front swing gate easily opens 180 degrees for easy 
rear access to cables from either side. Spring-load 
pivot pins provide for either left or right hinging, so 
you can choose what works for your build. 

00405920 00406284 00406285 00406286 00406287 00406288 00406289 

15U 18U SU 9U 12U 15U 18U 

18 18 24 24 24 24 24 

31.4 36.5 15.5 20.8 26 31 36.5 

20 20.8 20.8 20.8 20.8 20.8 20.8 

18 18 24 24 24 24 24 

25 / 55 50 / 110 50 / 110 50 / 110 50 / 110 50/ 110 50/ 110 
Cold Rolled Steel 

Black Powder Coating 

Bolled A ssembly 

Square and Square and Square and Square and Square and Square and Square and 
12-24 Threaded 12-24 Threaded 12-24 Threaded 12-24 Threaded 12-24 Threaded 12-24 Threaded 12-24 Threaded 

M6 Metal M6 Metal M6 Metal M6 Metal M6 Metal M6 Metal M6 Metal 
Washers (x4) Washers (x6) Washers (x4) Washers (x4) Washers (x4) Washers (x6) Washers (x6) 

M6 Wall Mounting M6 Wall Mounting M6 Wall Mounting M6 Wall Mounting M6 Wall Mounting M6 Wall Mounting M6 Wall Mounting 
Screws (x4) Screws (x6) Screws (x4) Screws (x4) Screws (x4) Screws (x6) Screws (x6) 

M6 Cage Screws M6 Cage Screws M6 Cage Screws M6 Cage Screws M6 Cage Screws M6 Cage Screws M6 Cage Screws 
(x10) (x10) (x10) (x10) (x10) (x10) (x10) 

M6 Cage Nuts M6 Cage Nuts M6 Cage Nuts M6 Cage Nuts M6 Cage Nuts M6 Cage Nuts M6 Cage Nuts 
(x10) (x10) (x10) (x10) (x10) (x10) (x10) 

12-24 Screws 12-24 Screws 12-24 Screws 12-24 Screws 12-24 Screws 12-24 Screws 12-24 Screws
(x10) (x10) (x10) (x10) (x10) (x10) (x10) 

✓ 

Assembly Required 

✓ 

✓ 

✓ 

✓ 

✓ 

31 38.5 25.375 25.375 28.875 34 39.25 

21 21.625 18.25 23.625 25.75 25.875 25.75 

7 5.25 5.25 5.25 5.25 5.25 5.25 

22.6 35.2 29.35 32.35 35.55 37.9 40.75 

I I 
.&l! 

;� In\�! 

t 

� 

Swing Gate Wall-Mount Racks

 © 2023 Infinite Electronics, Inc. L-com is a registered trademark of Infinite Electronics, Inc. 1
USA & Canada +1 (800) 341-5266 | International +1 (978) 682-6936  |  L-com.com

If It’s Critical, It’s L-com



�) 
2 

SKU Rack Unit Rack Depth 

00406285 6U 20" 
00406286 9U 20" 
00406287 12U 20" 
00406288 15U 20" 
00406289 18U 20" 
00406283 6U 18" 
00405918 9U 18" 
00405919 12U 18" 

B 00405920 15U 18" 
00406284 18U 18" 

r- D 7 
-� 

,!_! . . 1= -

I 

-e-
- ·=. .

-� ':": 

LEFT VIEW 

A 

A cc 
1�R3.25 / R.13 

-- i I 
I'-R5.00 / R.20 

cc

1, I 

REAR VIEW 

2 

w 
Mounting 
hole Qty. 

4 
4 
4 
6 
6 
4 
4 
4 
6 
6 

+ 

1 

A B 

464/18.28 253/10 
464/18.28 387/15.3 
464/18.28 520/20.5 
464/18.28 327/12.9 
464/18.28 393/15.5 
464/18.28 253/10 
452/17.8 387/15.3 
452/17.8 520/20.5 
452/17.8 327/12.9 

464/18.28 393/15.5 

rw7 
-

u 

FRONT VIEW 

Dim. Unit: mm/inch 

TITLE

 
� 
Swing Gate Wall Mount Rack 

1 

B 

-a-

A 

859 E. Park Avenue 
Libertyville, IL 60048 
PH: (888) 505-1363 
www.NavePoint.com 

Swing Gate Wall-Mount Racks

 © 2023 Infinite Electronics, Inc. L-com is a registered trademark of Infinite Electronics, Inc. 2
USA & Canada +1 (800) 341-5266 | International +1 (978) 682-6936  |  L-com.com



v20200908

Swing Gate Wall-Mount Racks

 © 2023 Infinite Electronics, Inc. L-com is a registered trademark of Infinite Electronics, Inc. 3
USA & Canada +1 (800) 341-5266 | International +1 (978) 682-6936  |  L-com.com




